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2 IEfES (Z058F &5E03m/s)

w1 =z Bh BRI | = lEsIhEaR P

R HAt] Bm  mAut| @R T mpot| @i met
D =%—=EMES 7.6|%3 200,000|#J 150,000 #176%| %3 20,000 #310% #J 4,000i #92%| #J 23,000: #312%
Q|BEHEMETM6.9 6.9] #9 78,000| %9 56,000: #372%| %7 15,000 #120% #7 1,700; #32% #94,900 #16%
Q| MAREHET 7.4] #988,000| %9 58,000: #366%| %7 18,000i #121% #72,600; #13% #8500 #110%
@|EE-ZL-METHIES | 7.7]# 120,000) #y 89,000 #373%|#) 19,000 #315%| %9 1,900 #32%| #5 12,0000 #310%
B |5 ILthEZEERRE | 7.6] #957,000| %9 39,000: #168%| #3 4,4000 #98% #9 2,900 #35% %9 11,000: #919%
©|EHHET 7.4|%9 210,000|#9 130,000: #162%| #9 6,300 #I3%| #92,300: #11%| %9 74,0000 #I34%
D | =R RMRZEMES 7.4| #980,000| #9 49,000 #361%| %9 9,700; #912%| #9 2,600; #33%| %9 19,000} #923%
BB 7.5|%9 230,000|#5 160,000: #371%|#3 13,000i #16%| #3 35000 #32%| %3 50,0000 #H922%
O|£EW B 7.5|#4 320,000|# 250,000 #178%|#7 17,0000 #45%| % 2,800 #50.9%| #1 51,0000 #916%
L ETERE 7.6]%9 690,000(#4 560,000 #181%|%4 22,000; #33%| #4 4,300 £0.6%| %9 100,000; #715%
(D| B #eh 1t 4 T TM6.9 6.9]%9 120,000( #9 96,000: #177%|%3 15,000; #312% %9 1,500; #91%| #5 12,000 #310%
| RABEIRETEH 7.8|%4 190,000|#4 150,000: #382%|#5 15,000] #18%| #7 4,300: #32% %5 15,000 #98%
()| LLi i 7 B = AR 8.0|#5 140,000|%3 100,000: #J74%| %7 4,800 #34%| %7 7,900: #y6%| #7 23,0000 #317%
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M ast B RIKIE . TR AR XK

R HAt] Bm  mAut| BE T mpot| @i met
DRI — =R ER 7.6|%9 260,000|#5 150,000; #458%| %7 20,000i #y8%| #7 4,000; #32%| %9 83,000 #732%
Q|&EHEME TMS.9 6.9|%9 110,000| %9 56,000: #350%| %7 15,000 #114% %7 1,700; #32% %3 39,000 #435%
Q|MAREE®H 7.4|%9 110,000| #9 58,000: #155%|#9 18,000: #917%| #9 2,600: #92%| %9 26,000: #925%
@|EZ-ZL-MATEBERT | 7.7]% 150,000 # 89,000 #158%|#1 19,000 #312%| #9 1,900: #91% #9 44,000: #329%
G| fm5ILthEZFETEFH IR | 7.6] %9 73,000| #739,000: #953%| #9 4,400; #96%| #92,900; #94%| £9 27,0000 #937%
Glkiz:n=1EL 7.4|%9 310,000|#5 130,000: #343%| %3 6,300i #H12%| %5 2,300: £70.7%| %3 170,000 F154%
D| =B RERBIEE 7.4|#5 110,000( #9 49,000; #345%| %9 9,700: #99%| #92,600! #92%| #9 48,000} #344%
BB 7.5|%9 310,000|#5 160,000; #351%| %3 13,000] #14%| %5 3,5000 #31%|#3 140,000 #Hy44%
O|EElR BT 7.5|%9 440,000|#%9 250,000 #356%| %9 17,000 #94%| #9 2,800: £90.6%| %9 180,000} #939%
L ETERE 7.6|%9 880,000(#4 560,000 #163%| %4 22,000; #32%| %4 4,300: £10.5%| %9 300,000; #734%
(D| B #eh 1 4 T TM6.9 6.9]%9 240,000 #9 96,000: #740%|%y 15,000; #96% #3 1,500; #90.6%| %9 120,000: #353%
| RABEIRETEH 7.8|#5 230,000\ %3 150,000: #368%| %7 15000 #36%| %7 4,300: #32%| #7 54,0000 #324%
)| L1 7 B = AR 8.0|#5 160,000|%3 100,000: #362%| %7 4,800 #33%| %3 7,900: #y5% %7 50,0000 #331%
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vl & B BRE | ElEaihaR KR

HEC HEARE] BB MRkt BB HEAkt] B 5144
DRI —=IEMER 7.6|#5 220,000\ %9 150,000: #369%| %7 20,000 #39%| %3 4,000 #y2%| #7 43,000 #320%
Q|&HEMETM6.9 6.9] #7 90,000 #7 56,000 %162%| %3 15000 #317%| #5 1,700 #32%| # 17,0000 #319%
Q| MAEBETEF 7.4] #994,000| #958000: #362%|#7 18,000 #520% %9 2,600: #I3%| #7 15000 #316%
@|EE-FLZ-WMATHERE | 7.7]1#9 140,000] #7 89,000: #564%| %9 19,000 #14% %9 1,9000 #91%| %3 29,000i #421%
G| B ERZMESEED | 7.6] #764,000) #9 39,0000 #560% #4400 #7%| %9 2,9000 #I5%| %7 18,0000 #328%
Glki#in:-n=Ls 7.4|%9 270,000|#5 130,000: #350% %9 6,300; #92%| #9 2,300 #90.9%| %3 130,000 #947%
Q| ZREBMREIET 7.4] %9 96,000| %3 49,000 #351% %3 9,700 #y10% % 2,600: #y3%| %9 35000 #336%
REFEILME S 7.5|#5 270,000\ %3 160,000; #359%|#5 13,0000 #5% %3 3,500: #y1%| %7 92,000 #334%
O|EFE BT 7.5|%9 370,000|# 250,000: #367%| %7 17,000 #35% #9 2,800: #70.8%| %3 100,000 #927%
LHETERER 7.6|#5 740,000\ %9 560,000: #375%| %5 22,0000 #13%| %9 4,300; £90.6%(%3 160,000 #321%
([P # iz E TM6.9 6.9]#3 140,000 #3 96,000 #167%|#y 15,000 #111%| %7 1,500, #11%| #7 30,000 #321%
| REBERETE T 7.8]%9 210,000 % 150,000: #375%| %7 15,000; #17%| #9 4,300: #32%| %3 33,000 #116%
(| L1 b B o 3 BT 8.0]%9 140,000(%9 100,000: #769%| #J 4,800i #33%| #97,900! #45% #9 32,0000 #922%
SIBEE (R 128 AE15m/s)

M| & B BRI T SBEEEE KR

B HARE) BB HERkit] BB HEAkt] B ;-1 44
DRI —=IEMER 7.6|%4 300,000|# 150,000: #351%| %5 20,000: #37% #7 4,0000 #J1%|#5 120,000 #341%
Q|2 HEMETM6.9 6.9|%3 140,000 #756,000: #140%| %9 15000 #311%| #5 1,700 #31%| %3 66,0000 #347%
Q| MAEBETEF 7.4|#45 120,000| #958,000: #350%|#7 18,000 #316%| % 2,6000 #32%| #5 38,0000 #332%
D|EZ-Z2-TWBETHHES | 7.7]% 190,000 # 89,000: #547%|#5 19,000: #510%| #9 1,900 #51%| #9 81,0000 #342%
G| B EZMESEED | 7.6] #783,000| #9 39,000 #546% #4400 #35%| 92,9000 #I3%| %7 38,0000 #345%
©|TEHEES 7.4]%9 380,000|# 130,000: #335%| %9 6,300; #92%| #9 2,300 #90.6%| %3 240,000 #163%
Q| RREBMREIET 7.4|#5 140,000| %3 49,000; #334%| %3 9,700 #97%| %9 2,600: #y2%| #981,000! #357%
REFEILME S 7.5|#5 400,000|%3 160,000; #340%| %5 13,0000 #33%| %9 3,500 #70.9%|#9 220,000 #355%
Ol = 7.5|%9 560,000|#7 250,000: #344%|£5 17,000 #33%| #9 2,800: #0.5%| %3 290,000: #752%
LHETERER 7.6|#45 970,000|%9 560,000: #357%| %5 22,0000 #92%| %9 4,300; $90.4%(%9 390,000 #340%
)| B Hh 12 E T M6.9 6.9]#45 290,000| %3 96,000; #333%|#y 15000 #95% %9 1,500 #70.5%| %9 180,000 #361%
| REBERETE 7.8]%9 280,000 150,000: #355%| %3 15,000; #45%| #7 4,300: #92%|#3 110,000 #139%
(| L1 b B o 3 BT 8.0]%9 180,000(%9 100,000: #y56%| #9 4,800i #33%| %9 7,900! #44%| #9 68,0000 #337%
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LHETETEFDOHE (M7.6) (4 —23l)
S IREZ (EER03m/s)
Eh &R SIEM MR IR P a5
B AL B B =% 59544 S Rt
(D058 F4 | #9560,0000 #981%| #9 22,0000 #93%| #£9 4,300 #30.6% #J 100,000 #315%| #9 690,000
Q| FR0SEFFEAE | #9 560,000: #984%| #922,0000 #93% #94,300: #90.7%| %3 80,000: #y12%| 3 660,000
(D& 12BFF4 | #9 560,000 #975%| #9 22,0000 #93% #94,300: #90.6%| %9 160,000: #921%| £ 740,000
@|&Z 18854 | #9560,000; #976%| %9 22,0000 #93% #£9 4,300 #90.6% #7 150,000 #520%| #9 730,000
SIRE (EER15m/s)
Eh &R1E SUERIH AR IR KK -
B AL B =954 EE AL B 595454
(D|&058FF4 | £ 560,000; #963%| #9 22,0000 #92% #£9 4,300 #90.5% #7 300,000 #334%| #9 880,000
(Q|FkosEEF4 | #9560,000; #966%| #9 22,0000 #93%| #£9 4,300 #90.5% #9 260,000 #331%| #9 840,000
(D& 12BFF4E | #9560,000: #357%| #922,0000 #92% #94,300; #90.4%| %9 390,000 #y40%| 9 970,000
(@& 18BFF4E | #9560,000: #959%| #922,0000 #92% #94,300i #90.5%| %9 370,000 #939%| £ 950,000
BR-—SEHBTFOME M7.6) (42—
S IREZ (EER03m/s)
Eh &R SEM MR IR P a5
B AL B B =% 59544 S Rt
(D|&-058FF4 | #9 150,000: #976%| #7 20,0000 #310%| #94,000; #92% %9 23,0000 #912%| £ 200,000
Q| FROSEFFAE | #9 150,000: #978%| #9 20,0000 #911%| #9 4,000 #92% %9 18,0000 #y9%| 3 190,000
(D& 12BF R4 | #9150,000: #969%| #7 20,0000 #y9%| #94,000; #92%| %39 43,000: #920%| £3 220,000
@& 18BFF 4 | 9 150,0000 #971%| %9 20,0000 #99% #£94,0000 #92% %9 38,0000 #18%| £9 210,000
SIRE (EE15m/s)
Eh &R1E SUERIH AR IR KK -
B AL B =954 EE AL B i 95954
(D[&058FF4 | £ 150,000; #958%| #9 20,0000 #98%| #£94,0000 #92% #9 83,000 #532%| #9 260,000
(@|FhosEFF 4 | #9 150,000 #961%| %9 20,0000 #98% #94,0000 #92%| #£9 73,000 #30%| %5 250,000
(D& 12BF R4 | #9150,000; #351%| #9 20,0000 #97% #9 4,000 #91%| %9 120,000: #341%| 3 300,000
(@& 18BFFAE | #9 150,000: #952%| #920,0000 #97% #9 4,000 #91% %9 110,0000 #3939%| £ 290,000
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(2) SEEH

e B (&058 JAE03m/s)

wl &z Bh | SEsbmR D ZOTE

AR MBRE| A% MBARIL|  ABK  MRRLL|  AB | AL
DR —=EHET 7.6| #510000| #79,300: #192%| %9400 #F94%| #9400 #34% -
Q|BAHEMETME.9 6.9] #93800| #93500i #194% #3200 #94%| #9501 F1% -
Q| MARKES 74| #73800| #93500i $91% #2000 6% #100i F93% -
@|E2-Z4-mATHKES | 7.7] #5600 #5300 #595% #9200 #3%| %9100; #52% -
G|#FmEIILthERMEEEE | 76| #2700] #2300 #87% %I 300 F10%|  #90  #4% -
®|fEEEE 74| #1 9500 #8400 #89%| £32001 #2%| £98000 H9% -
Q| ERAMARIER 74| #13500 #93100 #389% %32000 #97%| %9 2000 #95% -
AP LT B 7.5| #9 11,000 #5 10,000 #790% #7300 #33%| %9 800i H7% -
Q| EmEfE® 7.5 #917,000| #9 16,000: #994% #9 300: #92% #9700; #94% -
L ETERE 7.6] #5 37,000| #734,000: #592%| #9 400. #91%| %9 2,500; FI7% -
| B 7 it i E T*M6.9 6.9] #96,100| #45800: #596%| #9100; #92%| #9100; #92% -
D|  RABE SR U FE T 7.8] #310,000 #9600 #3934 #J400: #34%| #9300 #93% -
(03| LIV i v = &0 80| #97200( #96200 #386% %3 700: #310%| #9300, #34% -
BEEE (R 058F EE15m/s)

wl &z Bh | SEribmR D ZOTE

AR MBRE| A% MBARIL|  ABK MERRLL|  ABL | EBALL
O|&ExE—SEMET 7.6 #111,000] #99,300i #84%| %3 400. #33%| # 1.400; F912% -
Q|&HBTETME.9 6.9 #4200 #93500i #984%| #9200 #4%| #5000 #912% -
Q| MARKES 74| #14100| #53500 f985% #2000 #96%| #9400i F9% -
@|E2-24-mATHKES | 7.7] #5900 #5300 #590% #9200 #3%| £9400; #57% -
O|malthEGgurEwEas | 76] #2800 #32300 #382% #3300; #19% #7300: H9% -
®|fEEEE 74| # 11,000 #784000 #579% #2000 #2%| #5 2,100 F19% -
Q| ERAMARIER 7.4 #13700| #93100 #384% £32001 #6%| F9 4000 #310% -
AP LT B 7.5] %5 13,000 #510,000; #379%| #7 300: #3%| %3 2,300 #418% -
Ol 7.5] #919,000| #4 16,000 #385% #5300 #91%| #5 2,600; F914% -
L ETERE 7.6] #5 42,000| #734,000: #381%| %9 400; #1%| %9 7,500; $318% -
| B 7 1 1 T T*M6.9 6.9] #96,900| #45800: #584%| #9100; #92%| %9 1,000 $314% -
Q| R ERETET 78| #111,000] #9 9,600 #189% #7400i #94%| #9800 H47% -
Q| s EwEER 80| #97500| #96200i #182% #9700 #39%| %9 600i #F48% -

CE)BERFEIERAICKYRTLTNS=H, HHIE
COM-1EAERFEEFIHDITMTHEIEERT

BEHELX. AT OMOEL—HLABLMGENHD.

89




EEH (K128 BIE03m/s)

vl & Eh | =BEtEE T ZoMh__

NS I HERRE]  OAB  HERREE] A% CHERH] A% #ERE
D% —=EMES 7.6] #34300] #93400: #378% #9200: #35% %9 600: £313% 9 100: #93%
Q|aHBRMETMS6.9 6.9 91,800 #1400 #79%| #190 #5% #9200 #10%| #9100 Hae%
Q|MKREWEH 74| #91,600| #91,300; #977% #9100: #99%| %9 200: #910% #9700 #94%
@|BEE-Z-mBEMEET | 7.7] #92400 #92000: $584% #31000 #35% #9200 #99% #9300 #91%
G|malLiEGuEEEE | 76] £ 1,300] #1000 #72% #9200 F15% #2000 #12% 9 10¢ #50.8%
®|fEwET 74| #95200] #93400: fa64%| £9 1000 #2%| #9 1,400 #926% £94000 #97%
Q| E=RAMEZEET 74] #51,700] #91200: #969% #3200: #39%| %9 200; $312% #9200; H99%
REBF LB 75| #95600] #93900; #370% #£3200; #34%| #91,100; $319%  #9400; #98%
Ol = 75| #98000| #96,100; #377% #3200; #92%| #91,200; #315%  #9500; H97%
LETERE 7.6] %9 20,000 #9 15,000: £577% %9 200: #91% %9 3,600: £518%| £ 800: #y4%
@ |Bx# #h35 E TM6.9 6.9 #73400| #2700 #478%|  #980 #92%| #9 3000 #9u| #4000 FH11%
QP REBERTET 78] #94900] #54,000: £381%| #9300 #35% #9400 #39%| #9200 #5%
B I e 80| #93400 #92400 #972% #9500 £315% #9300 #y10% #3900 #493%
BEE B (& 1285 BE15m/s)

vl &t Rn___ | mlErnbmiR KT Z0f__

NS HERREE]  OAB  HERREE] A% HERH] A% #ERE
D% —=EMES 76| #95300] #93400: $63%| %9200 #34%| #1600 #330% £9100. #93%
Q|2 EHEMETME.9 6.9] #92300 #1400 #160%  #790! #34%| #9700 #931% #91000 #95%
Q|MKEWEH 74| #91,900| #91,300; #967% #9 100: #98%| #9 400: £921% #9700 #93%
@|BEE-ZL-TMATHEES | 7.7] #2900 #2000 #70% #1000 #34%| #9 700i #924% #9300 #91%
G|malLiEGeESEE | 76] £ 1,500] #1000 #63% #9200 $13%| #9400 #24%  #910: £50.7%
®|fEwET 74] #57,100] #93400; 948% #£9100; #32%| #93,200; $345%  #9400; #5%
Q| E=RAMEZEHET 74| #52000] #91200; #58% #9200; #%98%| 9 500: %326% 9 200i #98%
REBF LB 75| #97,500] #93,900: $952% #92000 #33%| #9 3,000 #340% #9400 #96%
Ol = 75| #911,000] #96,100; #357% #3 200: #91%| #94,000; #337%  #9500; #95%
LETETE 7.6| #9 26,000| #9 15,000 #959%| %9 200: #90.9%| %7 9,900: #338%| #9 800: #43%
@ | B ## iz E T M6.9 6.9] #94500[ #92700 #959% #980; #92% #9 1,400 #931%  #£9 400; #98%
Q| RIBEHEET 78| #95800] #94,000i f169%| %9 3000 #y5%| #91,300 #923%| £9 2000 #94%
| L i 8 7 E BT 80| #93900] #72400: #362% #9500 #313%| %9800 #322% #90  #92%
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Z DD IEENER (L 58F)

| zomss | Lpr i eORET gy
DRz — & EWE® 7.6 - - -
(2|4 & BTHE TM6.9 6.9 - - -
Q| IR B EH 7.4 - - -
@|EZ-REL-METHEHES | 77 - - -
G|f 5L RZETEFRER | 7.6 - - -
©|TEHT Wi B 74 - - -
D|E B A RBUEH 7.4 - - -
AR LB 75 - - -
Q| £ BB 75 - - -
LETEE 7.6 - - -
(0D | B5 % th 35 E TM6.9 6.9 - - -
| RABEIRETE 7.8 - - -
(3| LLi I B = 8.0 - - -
Z DD IEE NER (X 128F)
W[ eomas | Lo ZBEORE T gy

DR —BENBET 7.6 #1100 #5100 # 10
Q& EEMETME.9 6.9 #5100 #1100 #10
Q|MmAEEBH 7.4 # 70 #9 60 -
@|BE-ZL4-MATHKRES | 77 # 30 930 -
G|fEILHRZMBFRER | 76 10 510 -
®|fEHET 7.4 3 400 #5400 # 20
D|E=R A EZITEH 7.4 £ 200 # 200 -
AR LT 75 # 400 #5400 # 20
OlES =R 75 #3500 #3500 # 30
LHTET B 7.6 #3 800 #5 700 #1 90
| BR #3115 1 TM6.9 6.9 # 400 #1300 # 20
Q| RIBEREET 7.8 9 200 #3 200 #9510
)| L5 7 B s D 8.0 90 #9 80 -
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LRTETEFDOME (M7.6) (4 —2F0)

Bt # (JELIEO03m/s)
Eh SfERHh AR IR R K Zhfth a3t
A% MR AB MRRLE| A% MERRK | A% Rk
D|&0585 %4 | #934,0000 #992% #9400; #91%| #9 25000 #97% - -| #9 37,000
@|RhoshEF4E | #9 24,0000 #990%| #9300: #91%| £91,7000 #96%| #9800 #93%| %9 27,000
Q)& 12854 | $9 150000 #77% #2000 #91%| #3600 #518%| #9800 #94%| #9 20,000
@|&18m5% 4 | #923000 #385% #9300 #91%| #931000 #911% #9800: #93%| #9 27,000
& E (AR 15m/s)
Eh SER Hh R IR R K Zhfth a3t
AB ML A% HEIEE| A% MR
D| 205854 | #9 34,000: #981%| #9400 #91%| #9 7,500 #918% - -| #5 42,000
@|RhosREFE A | #9 240000 #978%| #9300 #90.9% #5600 #318%| #9800 #32%| %5 31,000
Q)| & 128534 | 9150000 #59% %3 200: £90.9%| %3 9,900 #338%| #9800 #43%| %9 26,000
@|& 188554 | 9230000 #971% #9300: £90.9%| #8500 #926%| #9800 #2%| #9 33,000

RE-—SEMBETOHE M7.6) (4 >—23l)

& E (AIR03m/s)
Eh SfEsHh AR IR R K Zhfth a3t
A% MR AB HRRLE| A% MERRK | A% Rk
D|%Z058EFA | £99,300] #192% #4000 #94%| #9 4000 H94% - -] #5 10,000
@|Fh08BEFEAE | #9 56000 #390% #9300 #£94% #9200 #33%| #9100 #92%] %9 6,200
Q& 12854 | #934000 #978%| #9200 #95%| #9600 #913%| #9100 #93%] 49 4,300
@|x18BFF4E | #9 58000 #986%| #9300 #94w| #9500 #97%| #91000 #92%| #9 6,700
& B (AR 15m/s)
Eh SER Hh AR IR R K Zhfth a3t
ABHEILE| A% M| A% R
KO5HFFAE | £#99,3000 #984% #94000 #93% #9 1400 #912% - -| #5 11,000

FhogpsF4E #5600 #981% #93000 #94% #9900 #913%| #9100 #92%] %9 6,900

RI12BFHE %9 3,400 #963%] #9200: #94%| #£9 1,600 #930%| #£9100: #93%] %Y 5,300

SEEICAIS)

R18EEHEE #7 5800 #576%| #9300 #94%| #9 1400: #919% #9100: #92%| #£9 7.600

XIZDflIZE, TAvIREOE R, BEIRTHOEE. BN ETYICISRELNAEEND,
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(3) AFEHR

B 15E % (ZO058F & %E03m/s)

M| & ﬁ@%ﬁh BRL ag@m@ﬁt ﬁ%_%"%ﬁ,zﬁiﬁmtt ﬁf;_;%’ T
DIRE—EEMBET 7.6| #963,000( #y 61,0000 #397%| %9 500i #30.8%| %7 1,5000 #32% - -
@& & EHETME9 6.9] #926,000| #7 26,0000 #598%| #9200 #90.8% %9 200; $90.9% - -
Q| MARMEH 74| #924,000( #9 230000 #597% #9300  #91%| #5000 #52% - -
@|EE-Z4-TETHERES | 7.7] #928,000| 9 27,0000 #96% #92000 #70.8%| £ 1,0000 #34% - -
G5 R FETEFRES | 7.6] %7 12,000| #910,000i #190% #9300;  #3%[ #9900 #97% - -
©|TEHE 74| #5 45,000( #7 38,0000 #984%| #9300i #30.6%| % 7,000 #y15% - -
Q| ZBRAMRZIES 74| #9 21,000 #9 19,0000 #390% #9300i  #91%| %9 1,800 #8% - -
TRARTE LI B 75| #9 61,000 % 56,0000 #192% #7400 #90.7%| %9 4,600: 8% - -
O| & Bk B 7.5 #9 95,000 #9 90,0000 #395%| %9 300i #30.3%| #94,3000 #94% - -
LETERE 7.6]%3 200,000(%9 190,000: #y95%| %3 500: #40.3%| %9 8,700: #44% — -
| Br# izt 1E TM6.9 6.9] #938,000| #737,0000 #97%| #9200 #90.5% %9 900; #92% - -
@ RIBEIRETET 7.8| #9 59,000 #y 58,000 #J98% %9 500i #30.8%| %7 1,0000 #32% - -
@] L5 7 FE 7 E BT 80| #934,000| %931,0000 #991% #9900:  #93%| #92,100: #96% - -
B15E# (£ 050 JE:E15m/s)
wl azt Bn | SprihmE L% Z0f_
BGEY MR | AEEN WAL BGEN B AGEN BRL
DRI — =R ER 7.6| #9 69,000 #7 61,0000 #189% %3 5000 #30.7%| #9 7,100 #310% - -
@2 HEMETMS6.9 6.9| #929,000 #5 26,000 #988%| #9200 #0.7%| #3200 F11% - -
Q| MABEEH 74| #726,000| #723,0000 #391% #3300 1% #2000 #98% - -
@|EZ-FL-WBTHES | 7.7] # 31,000 # 27,0000 #386% #5200 #50.7%| #9 4,0000 #913% - -
G| 5Lt EIZMTEHEER | 7.6] %9 13,000 # 10,0000 #979%| #9300: #32%| #9 2,500 #119% - -
@|EEEE 7.4| #354,000 #738,0000 #370%| %9 300: #30.5%| # 16,000: #430% - -
Q| RRABMEBEIET 74| #9 24,000 #9 19,000] #979%| #3300; #91%| 94,700 #920% - -
RERFE LB 7.5| #3 70,000 #556,0000 #180%| %3 400 #30.6%| £ 13,0000 #y19% - -
OlEL e 7.5|#5 110,000( #5 90,0000 #384%| #9300} #30.3%| £3 17,0000 #415% - -
LHETERET 7.6|%3 220,000(%3 190,0000 #387%| %3 500: #90.2%| %3 28,000: #413% - -
(| B e 2k E T M6.9 6.9] #948,000| %9 37,000 #y76% #9200 #50.4%| %5 11,000 F923% - -
@ RBERETET 7.8| #7 63,000 #758,000] #392%| #9500i £90.8%| #4600 #97% - -
3| Ly i 8 o5 = D 80| #937,000| #731,000: #985%| #J900: #32%| #4 4,700 #913% - -

CEHERFMERAICKYRTLTINDS, FSHEDAFHEX. GFOMOEL—BLEWMEELH D,
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93




Bi5EH (X128 RE03m/s)

vl am Bh | SEsnbEE T ZOtk

SEER  BHL | 8EER mat| SBER Rk | 8EER  #Rt
(D =1% — = EMET 7.6 #351,000| #430000 #984% #9300: #0.6% #92,600: #5% #5500 F11%
(2| & EHETHETME6.9 6.9] #926,000| #721,000 #81%| #3100 #30.4% #9800 #33%| #Y4,000i #316%
Q| MAEEET 74| #920,000( #9 17,000; #984% #9200 #90.9%| #£9800: #94%| %9 2,300 #912%
@|E2-ZL-TETEER | 7.7] #21,000] # 17,0000 #83% #£9100] #0.7% #£92,100i #310% #91,200i #96%
(B|fmalILthREMEHERE | 76| #19500] #7400 #78% #92000 #93% #91,5000 #915% £94000 #94%
O\t fE T 74| #952,000( #526,000; #950% %9 200; #90.3%| £ 12,000; #923%| %7 14,000, #927%
D\ EREMFBZE BT 74| #922,000| %5 14,000. #561%| #9200 #90.9% 92,700 #912%| #9 56000 #26%
(®| RARTG LT B 7.5| #762,000| #J 38,0000 #461% %9 300: #70.4% #J7,900: #113%| £ 16,000 #126%
(9| Bk fE T 7.5| #987,000| #9 59,0000 #968% %9 200: #70.2% #98,000i #y9%| £ 19,000 #922%
(0| kBT B fE 7.6]#5 190,000(#4 150,000! #377%| #4300 #70.2%| £ 14,000 #37%| %5 30,000 #16%
()| B iz T TM6.9 6.9] #349,000| #1 33,000 #367% #9100 #902%| #2500 #5%| # 14,0000 #528%
(| RIBE LR BT E 7.8| #951,000| #539,000 #77%| #9300 #90.6% 92,3000 #5% #99,000i #18%
(03)| LI BT & 5 = T 8.0| #726,000| #J 20,0000 #476% %9 700: #92% %9 2,500 #99% %3 3,100 #y12%
Bi5EH (L1265 EiE15m/s)

vl a "L | sribmk KT ZOM

BBEN Gt | SEEN mait| SEER Bt SEEN B
D =% —SEHET 7.6| %9 58,000| #743,000i #973% #9300 #50.5% %9 9,800 #117% #955000 #39%
Q| & EHETETMSE.9 6.9] % 30,000| #721,0000 #769% #9100i #50.4% %9 54000 #118% #9 4,000 #713%
Q| MAREEF 74| #9 22,000 #7 17,0000 #977%| #9200 #90.8%| #9 2,600 #312% #9 2,300 #911%
@|BEE-Z4-OBHEBET | 7.7] #25,000] # 17,0000 #168%| #9 100i #90.6%| #9 6,600 #326% #5 1,200: #95%
B\ 5| ILthERFETEHRED | 7.6] 9 11,000[ #97,4000 #966% #9200 #92% #93,300: #929% #4000 #93%
(O| Ttk fE 7.4] #963,000| #926,0000 #941% %9 200: #90.2%| £ 23,000 #136%| £ 14,000 #4922%
D\ EREMBBZE BT 74| #926,000) %7 14,0000 #52% #9200: #50.7% %7 6,700 #926% #95600 #122%
(®)| RARTG LI B 75| #973,000| #738,000. #51% #9300 #50.3%( £ 19,000 #926% %7 16,000 #522%
(D)| 4 Bl & 7.5|%3 100,000| #759,000; #57% #9200 #50.2%| 7 25,000 #924% %7 19,000 #519%
(10| L BT I FE 55 7.6]#7 210,000|#3 150,000! #369%| #3300 #10.1%| 7 37,000! #117%| 3 30,000 #314%
(| B #h12 E TM6.9 6.9] #763,000| #933,000. #952% %9 100: #30.2%| £ 17,000 #926%| £ 14,000 #922%
(@] RIBEREET 7.8] #758000| #139,000; #369% #9300 #0.6%| %7 8800i F15% #9 9,000 #316%
(03| LLI 5 7 & 7 £ BT 8.0] #930,000( #720,000; #468% #3700 #92%| #95700; #919%| #93,100. #910%

CEHMERFMERAICKYRTLTNSO. FSHEDAFHEX. GFOMOEEL—BLEWMEELH D,
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ZTDMDEEE AR (Z58)

| zomss |[Lp i eORET gy
DRz — & EWE® 7.6 - - _
@|& & EHE TM6.9 6.9 - - _
Oy ER 7.4 - - -
@|EZ-REL-METHEHES | 77 - - _
BB RBEBHREL | 7.6 - - -
©| i E 7.4 - - _
D|=REHEZER B 74 - - _
AR LB 75 - - _
Q| £ BB 75 - - _
LETEE 7.6 - - _
(D B #e0 2t 12 T T"M6.9 6.9 - - _
| RABEIRETE 7.8 - - _
(3| LLi I B = 8.0 - - _

TN BIFEBNER (Z128)

W[ eomas | Lo ZBEORE T gy
DB —BEHBT 76 9 5,500 #3 4,900 #3600
Q& HEMETMG6.9 6.9 #3 4,000 #3 3,600 #5 400
Q|mMAREMEH 7.4 3 2,300 #3 2,200 #5100
@|EZ-FL-mMATEHES | 77 9 1,200 # 1,200 80
G|fEILHFZMBFRER | 76 £ 400 #5300 #9 30
©|1EirkE S 7.4 #9 14,000 #3 12,000 #5 1,700
D|E=R A EZITEH 7.4 #9 5,600 #5 5,400 # 300
AT LT B 75 #316,000 #5 15,000 #5 1,700
O|£EabrfEH 75 #3 19,000 #5 17,000 #5 2,200
LB 7.6 #3 30,000 # 23,000 # 6,800
@ |Bx # 3tz E T M6.9 6.9 #3 14,000 #5 12,000 #9 1,600
Q| RIBEREE T 7.8 9 9,000 9 8,300 #3700
)] L1 b B 3 B0 8.0 3 3,100 #3 2,900 #5200

CEMERFMERAICKYRTLTNDO FSHEDAFHEX. GFOMOEL—BLEWMEELH D,
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LHTETE R DMHE (M. 6)

(4—25)

B5EHRE03m/s)
Eh BRI KK Z 0t -
A# HRLL | AB Bk AB B AH HEEE
D|&058 54 | #9 190,000 #395%| #9500 #90.3%| #98,700: #94% - -| #5 200,000
@|Fho8BEFEA | #9 150,000 #I81%| #9400 #90.2%| #5400 #93%| £ 30,000 16%| £ 180,000
@& 12854 | #9150000 #I77%| #5300 #90.2%| #9 14,0000  #17%| #9 30,000 316%| £ 190,000
@& 18854 | #9 160,000 #I79%| #5400 #90.2%| #9 12,0000 #16%| £ 30,000 15%| £ 200,000
BEERAEI5m/s)
fEh BER AR R Z 0t -
A WAL [ A% BRE A HEREE
D|&0585 54 | #9 190,000 #987%| #9500 #90.2%| 3 28,000: #913% - -| #5 220,000
@|Fho8BEFEAE | 9 150,000 #975% #9400 #90.2%| 9 20,0000 #910%| 3 30,000 #915%| %3 200,000
Q| & 128554 | #9150,000: #969% #£9 300: #30.1%| #9 37,000: #317%| %9 30,000: #314%| 9 210,000
@| & 188554 | #9160,000: #972%| #£9 400: #30.2%| #9 32,000; #315%| %9 30,000: #314%| 9 220,000
RiR—SEMEFOHE M7.6) (4>—50)
BE5E B RE03m/s)
En AR AR IR X5 Z0th -
A WELLE | AB R A HEREE| A HERt
D|&058FFE4E | #9 61,0000 #197% #9 500i £90.8%| #41,5000 #32% - -l #363,000
@|FhosmESEE | #9 420000 #986% #9300] #07% #1900 #92%| #35500 #11%| # 48,000
Q& 12/ F4 | #9430000 #984%| #9300 #90.6%| #92,6000 #95%| #9 5500 #911%| %9 51,000
@(x18mF4E | #9 46000 #985% #9300 #90.6%| #92,100 #94%| #5 5500 #910%| #9 54,000
BEEBREI5m/s)
En AR AR IR KK Z0th -
A WELLE | AB R AB HEHEE
D|&05msF4 | #961,0000 #989% #9 5000 #90.7%| #97,100 #310% - -| #969,000
@|FhosmESEsE | #9 420000 #980% #9300; #90.6%| #34,500 #9%| #35500 10| # 52,000
Q& 12mF4 | #943000 #973%| #3300 #90.5%| #99,800 #317%| #95500 #99%| #9 58,000
@& 184 | #9 460000 #976% #9300 #90.6%| #98400 #514%| #5500 #39%| #9 61,000
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(4) EEEH

E5E K (Z058K EE03m/s)

vl & Bh | mEsnbmR KR Z0E

EGEH WAL EGEH M| SGEH M| SEER | WAL
O =& —=EWES 7.6] %9 12,000| # 11,000 #594% #2000 #2%| #4000 #94% - -
Q@& HEHETME.9 6.9 #94400| #4300 #96% #9100 #9524 70 #1% - -
OmAREH 7.4 #94500] #4200 #594% #9200 #33%| #1000 #93% - -
@|Ez-24-mAHEES | 77| #5800 #5400 #93%| #31000 #92%| #9300i #95% - -
G|fmelLtEguEERES | 76| #2500 #2100 #84%| #32000 #96%| #9200i #10% - -
®|fEnET 74| #59,700| #7600 #578% #9100 #31%| 91,9000 #120% - -
D|ERAMERBINES 74| #93900| #3300 #384%| #5100 #y4u| #9500 #g12% - -
R ILEE S 7.5| #912,000| #9 11,000 #88%| #9200 #32%| 9 1,300; #311% - -
Q|&E5EE® 75| #919,000| %9 18,000: #793% #9200 #70.9% 9 1,200; #36% - -
LHETERER 7.6] #5 41,000 #9 38,0000 #593%| #9 300! %90.6%| #5 2,400: #46% - -
@ | B o 35 T TM6.9 69| #76200] #55900 #95% F90 i #3200 Haaw - -
@ R ERETE 7.8] #9 12,000 #1 11,0000 #596% #3200 #92%| #3000 #92% - -
B 80| #77400 #96,300; #586% #9400 #y6% #9600; #48% - -
E5EE (Z058F AE15m/s)

vl ozt F O B e oA e TR Z0TE

EHEN | B | BEN BRI | BEEM G| BHER R
OEE—SEMES 7.6] #314,000| # 11,0000 #384% #7200 #32%| # 2,000: #915% - -
Q|&HEMETM6.9 69| #5200 #74300 #381% #3100 #92%| #9900 #917% - -
Q| IAEWEH 74| #4900 #94200 #485% #9200 #43%| %9 600i F912% - -
@|BE-ZL-OETHEES | 7.7 #6600 #95400; #381% #3100. #92%| %5 1,100: #917% - -
O| 5L RZRTEFREL | 7.6] #3000 #321000 #371% #92000 #y5% #9700; #723% - -
®|fEIEET 74| #512,000] #9 7600 #962%| #1001 #91%| £ 45000 #937% - -
Q| ERAhRBIRES 7.4] #4800 #733000 #369% %3 100i #33%| #9 1,300 #528% - -
RN LIBTE 75| #315000| %7 11,0000 #373% #7200 #91%| # 3,7000 #925% - -
O|E£EMES 75| #523000( % 180000 #379% %3 200! #30.7%| #5 4,600 #520% - -
LB 76| %3 47,000 #938000. #383%| #49 300: #90.5%| £ 7,900: #317% - -
| B 7ot i T T©M6.9 6.9] #99,100| #95900; #y65% #990. #91%| £ 3,100; #934% - -
QP RIBERE BT 7.8| %3 13,000 %3 11,000. #8s%| #3200 #92%| 3 1,300; #310% - -
O@| Ik ET E & 80| #98,100| #96,300 #978% #9400 #y6%| %9 1,3000 #y16% - -
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EGE R (X128 Ei#E03m/s)

vl 2z Eh | EErnbEE RTE ZOf

FlHER | B | SHEER BRI | SHER HRIL| SHER S
DB —=EHNES 76| #9000 #96,2000 #969% #1000 #92%| #9700 #98%| %3 2,000 #922%
Q|2 HEMETME.9 6.9] #94300[ #2600 #960% F960 F31%| #9200 #95% #1400 #933%
Q| mAREM BT 74| #93500[ #92300 #y66% #9900 #33%| £92000 #96%| #9900 #925%
@|EE-ZA-WATES | 77| #3900 #52,7000 #71%[ #9570 #2% #9600; #15%[ #5000 #912%
®|fmelIUthRZmETERES | 76| #91900] #91,200 #965% #9 1000 #96%| #9400: #921% #9100 #97%
®|fEinE 74| #5 13,000 #4200 #933% %980 #30.6%| %9 3,300 #326% #5000 #H40%
Q| RAMBRZEER 74| #34700[ #91,700; #937% #9100 #92%| #9800 #316%| #9 2,100 #945%
REFE L ES 75| #114000 #756000 #341% #1000 #50.9% #9 2,200 #16%| #5800 H42%
Q| &EBIEE 7.5 #919,000| #99,500: #350% %9 100i #30.5%| %3 2,200: #y12%| #36,900; #937%
LETEE 7.6] #938,000| %3 25,000: #364% #9200 #30.4%| %3 3,900 #y10%| # 9,700 #925%
[P # I E TM6.9 6.9 #99,600 #74000i #9a2%| F350: £90.5% #9700 F7%| %3 4,900 #951%
@[ RIBE LR ETE 78| 510,000 #96,200] #960% #9200 #92%| #9600 6% %I 3,300 #932%
@ | Lz 7 P 4 2 4B 80| #95500] #93300 #60% 9300 Huew| F 700 #313%| #9 1,100 #521%
E5E 5 (£ 1285 EE15m/s)

vl & Bh_ | SlEribams 0% Zoft

EHEEN AL SHES BN | SHER Bl | BHEN R
| EE—=EHBT 7.6| #9 11,000 #96,200: #356% #9100 #91%| %92,700 #925% %9 2,0000 #318%
Q|&EEHETM6.9 6.9| #95600 #92600: #947% £I60 #91%| %9 15000 F27% %9 1,400 #26%
Q|IMAEHBH 74| #94000 #92300: #958% 990 #y2%| #9700 #y18%| #9900 #921%
@|BEE-Z4-mATEES | 771 #5100 #2700 #54% #9700 #51% #9 1,800 #336% #9500 #99%
®|mBIILRBEBHFRED | 7.6] #92400| #91.200; #3524 #9 1000 #95% #3900 #338%| #9100: #36%
®|TEHEE 74| # 16,000 #4200 #527% #980: #05%| #76400 #41%| #5000 #32%
Q| ZERRAMRZEET 74] #35800 #91,700; #130%| #1000 #32%| %9 1,900 #332%| %9 2,100; #336%
REFEILETET 75| #9 17,000 #95600; #33%| #9100 #90.7%| %3 5400 #932% #J 5800 #934%
O| kBl BT 7.5] %9 24,000 #99,500; #940% %9 100i #904%| #9 7,100 #930% #36,900 #929%
L ETERE 7.6] %9 45,000| #9 25,000; #355%| %9 200: #90.3%| %5 10,000: #923% % 9,700: #922%
O |Br ##Hth iz E TM6.9 6.9] #9 14000 #94,000: #330% #950: #90.4% %9 4,600: #934% #94,900: %936%
Q| RIBERITE T 78| #1 12,000 #96,200: #51% #2000 #31%| %9 2,500 $320% %9 3,300: #927%
@|ILEE eSS 80| #6400 #3300 #952%| #9300 #35%| %9 1,600: #325% %9 1,100i #918%
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ZDMDEFZE AR (Z58H)

| zomas |[Lpr i iORET gpgTy
DRz — & EWE® 7.6 - - _
@|& & EHE TM6.9 6.9 - - _
Oy ER 7.4 - - -
@|EZ-REL-METHEHES | 77 - - _
BB RBEBHREL | 7.6 - - -
©| i E 7.4 - - _
D|=REHEZER B 74 - - _
AR LB 75 - - _
Q| £ BB 75 - - _
LETEE 7.6 - - _
(D B #e0 2t 12 T T"M6.9 6.9 - - _
| RABEIRETE 7.8 - - _
(3| LLi I B = 8.0 - - _

ZDHD EFEBNER (Z128)

| eomas |TLgZBEORET gy
DB —BEHBT 76 3 2,000 #3 1,900 #9 60
Q|2 HEMETMG.9 6.9 #9 1,400 # 1,400 £ 40
Q| ImA BB ET 74 #1900 #3900 # 10
@|EZ-ZL4-mATHET | 77 3 500 3 500 # 10
G|fEILHFZMBFRER | 76 #5100 #5100 -
©|1EirkE S 74 9 5,000 #4 4,800 #1200
D|ERAMEZHE® 74 £ 2,100 #5 2,100 # 30
AT LT B 75 %9 5,800 #4 5,700 #3 200
Q|4 EEE® 75 4 6,900 #5 6,700 #5200
LHETH R 7.6 9 9,700 #3 9,000 #1700
| BR #3115 1 TM6.9 6.9 #3 4,900 #1 4,700 #5200
Q| RIBEREE T 7.8 9 3,300 3 3,200 # 70
(3| LLi s 7 28 o £ D 8.0 #91,100 #11,100 # 20

CEMMERFMERAICKYRTLTINSO. FSHEDAFHEX. GFOMOEEL—BLEWMEELH D,
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LHTETE R DMHE (M. 6)

(4—25)

B 15E B AE03m/s)
Eh AR th AR KK Z 0t -
A MR A% HEEH A HERREE| AE Rt
D|&05m5 %4 | #938,0000 #993% #9 300: #90.6% #92,400: #96% - -| #9 41,000
Q| FhOsEFFAE | #929,000: #971%| #9200: #90.4%| #91,5000 #94%| %9 9,700 #924%| %9 40,000
Q& 12854 | #9 25000 #564% #9 200: #50.4% #3 3,900 #310%| #3 9,700: #925%| #3 38,000
@& 184 | #929,0000 #169% #2000 #0.4% #9 3,300 #38%| £ 9,700 #123%| #5 43,000
EEEREZE15m/s)
En SER AR KK ZDfth -
A# Bkt A% #Eek N HRLE
D|&05m:F4 | #9 38,0000 #183% #9300: #05% #9 7,900: #317% - -| #9 47,000
@|FrosmEF4 | #9 29,0000 #965% #9 2000 #0.4% %9 56000 313%| £ 9,700 #922%| #5 44,000
Q& 12mF4 | 9250000 #155% %9 200: #10.3%| #7 10,000: #123%| #9700 #122%| #5 45,000
@& 1884 | #9 29,0000 #61%| #9200 #50.4%| #9 9,000 #319%| #5 9,700: #920%| %9 48,000
Ri—SEMBEFOHME M.6) (4 —2FI)
EGEHAE3m/s)
Eh SMER iR KK Z0fth -
A MR AB MR A MR A MR
D|&05m%4 | #9 11,000 #994% #2000 #92% #9400 $94% - -| #3 12,000
@|FhosEEF4E | #£97,300. #976%| #92000 #92%| #9200 #33%| %9 2,000: £520% #9 9,700
Q& 128 F4E | #96,2000 #969% #9 1000 #92%| #9700 #38%| %9 2,000: #922%| #3 9,000
@|Z18BFFAE | £97900 #974%| #9200 #£92%| #9600 #96%| %9 2,000: £918%| #9 11,000
EGEHAEI5m/s)
Eh SHER R iR KK Z0ith -
A R A HEL A# I HEK
D|&05B554 | #9 11,0000 #384%| #2000 #92%| #9 2,000 #315% - -| #5 14,000
@|FhosEEF4E | #9 7,300 #968%| #9200: #91%| #£9 1,300 £912%| %9 2,000: £318%| #5 11,000
Q&12m%4E | #6200 #56% #1000 #91%| #92,700: #325%| #3 2,000: #518%| #3 11,000
@|&18E4E | #7900 #64% #2000 #91% #92,4000 #319%| £ 2,000: F16%| £ 12,000
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